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. Find a, b, c and d such that the cubic f(z) = ax® + bz? + cx + d satisfies

the indicated conditions.

(a) Relative maximum : (3,3)

(b) Relative minimum : (5,1)

(¢) Inflection point : (4,2)

. A rectangular package to be sent by a postal service can have a maximum
combined length and girth (perimeter of a cross section) of 108 inches.

Find the dimensions of the package of maximum volume the can be sent.

(Assume the cross section is square.)
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0, z=0
Show that f is continuous, but not differentiable, at = 0. Show that ¢

is differentiable at 0, and find ¢’(0).

2(z2-9)
x2—4

. Analyze and sketch the graph of f(z) =

. Air is being pumped into a spherical balloon at a rate of 4.5 cubic feet per

minite. Find the rate of change of the radius when the radius is 2 feet.
. Determine the slope of the graph of
3(z* + y?)? = 100xy
at the point (3,1).
. Prove that | cosx — cosy| < |x — y| for all  and y.

. Find the relative extrema of f(x) = (22 — 4)%/3.



